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Candidates are required to give their answers in their own words as

far as practicable
lllustrate the answers wherever necessary

Answer any five questions of the following: 5x2=10
What is co efficient of coincidence?

What do you mean by extrachromosonal inheritance? Give an
example.

What is paramicin? Write its function.

What do you mean by non-sence mutation? Give an example.
Write difference between intergenic and intragenic interaction.
Write a note on Huntinglon’s disease.

Differentiate between pericentric & paracentric inversion.

What do you mean by philadelphia chromosome?
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Answer any four questions of the following: 4x3 =20
What do you mean by epistasis? Discuss brefly about
supplementary gene and complementary gene with example.
1+4
Define lethal allele. Briefly discuss about dominent lethal and
recessive lethal allele. 1+
Briefly discuss about sex limited and sex linked inheritance.

Write note on i1} Ac-Ds elements
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Briefly describe the role of 5-bromouracil in nutation of gene.

Write down the cause and symptoms of cn-du-chat svndrome
and klinefelter syndrome.

Answer any one question: 1x10=10
Describe the molecular pathway of sex determination in human.
Three linked recessive genes a,b,c have been mapped as follows
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The co efficient of coincidence is 0.4 Calculate the sequence of
phenotypes (Male & Female ) Within 2000 offspring of cross.
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